HEFHERNEYT—ay
O EFIERNEYT—av B
*H2RE1E] 28, 3F FRBD
EXY—ERE (A%

IAH &R

TEZA

REEZRVEVED

SHTHE10A1BHE

(1BHYDRE

1E{#1=10.88M)

X % EAREN EEE] 2ZIEE 3EIEE

EXE 1,712 Efq 1,863 A 3,726 { 5,588 M

EXiE2 3,615 Hifu 3,934 H 7,867 H 11,800 H

(mE] (B %E)_

% W EREN FETEEE] PETEEE] RETEEE]
IUNEYT—3uv Y AVMINE 3308~ AH 359 { 718 H 1,077 H
EEN RS REM L& 225 Bifi 245 A 490 H 735 H
KENEME 150 Hifi 164 M 327 H 490 H
KB -V ME(6RIZDE1[E) 58 H 6 H 11 H 17 H
O R AEm £ nE 150 HEiff 164 M 327 H 490 H
HEMRMEMNAEZANE 240 Hifg 262 M 523 H 784 H
BIRMY —E REHREREME I 1
E;R%ﬂ—t‘xgg%gmg I2 480 Bifi 523 A 1,045 A 1,567 A
BRI —EREHRERME I3
BN Y —EREREREMED 700 Hifi 762 H 1,524 H 2285 H
EFTAR LN T-VIVINE 4
(%lJFﬁEf‘—irﬁ’aEla)E#éﬁ;Bgﬁjum) 900& {1~ A 980 H 1959 H 2,938 H
LARTRELIN 73/ ME2 45081/ A 490 [ 980 [ 1,469 [
BEMIHMEME 120 Hifsp 131 H 261 M 392 H
H—E RBEAFIMNET 11 72 Bifi 79 H 157 M 235 H
H—ERBHAEHMET 12 144 Hifs 157 H 314 H 470 {H

. NERBERY—ERB+ENME(-A#KREE) | ERBEMH—

ERENEHE 3
NEBRLEREMS 1 X 4.7%(MNE=E) x 10.88(1 Bfi) (EERBifI$ X 0.9~0.7)

B NERBERY—ERB+EME(-RA#KREE) | ERBEMIH—

EBEERTLERE I 3
NEBAFHELEAEME X 2.0%(MNE =) x 10.88(1 B fi) (EERBAIE x0.9~0.7)

[BERUFv /L] 23EECAECGEER)

750M (HEHDH) 750MH

XEOMOBECHFESNIZEICHNSER) 2EACRE
(BBILERE] 2EECAEGERE)

BEIRKE

HE

200H

E=0357. 8857 . wA. EREFHEOMHE




